2 IR E RIS/ A AR o [ |
PFA/SO & J
TBHIRE IR Size (mm) EHy=aE

K S Part Number S
391 3.05 31000S0100150010 M10x10 16 9.82 8.1

391 3.05 31000S0100150020 M10x20 16  9.82 8.1
391 3.05 31000S0100150025 M10x25 16  9.82 8.1
391 3.05 31000S0100150030 M10x30 16  9.82 8.1
391 3.05 31000S0100150035 M10x35 16  9.82 8.1
391 3.05 31000S0100150040 M10x40 16  9.82 8.1
391 3.05 31000S0100150045 M10x45 16  9.82 8.1
391 3.05 31000S0100150050 M10x50 16  9.82 8.1
391 3.05 31000S0100150055 M10x55 16  9.82 8.1
491 4.06 31000S0100150060 M10x60 16  9.82 8.1

Part Number M
31000S0040070006 M4x6

31000S0040070008 M4x8

31000S0040070010 M4x10
31000S0040070012 M4x12
31000S0040070016 M4x16
31000S0040070020 M4x20
31000S0040070025 M4x25
31000S0040070030 M4x30
31000S0040070035 M4x35
3100050050080006 M5x6

00 (00| C0 100 00 100 0o 00| C0 0o )
oo oogoo YNNI SNSNPR

3100050050080008 M5x8 491 4.06
31000S0050080010 M5x10 491 4.06
31000S0050080012 M5x12 491 4.06
31000S0050080016 M5x16 491 4.06
31000S0050080020 M5x20 491 4.06
31000S0050080025 M5x25 491 4.06
3100050050080030 M5x30 491 4.06
31000S0050080035 M5x35 491 4.06
31000S0050080040 M5x40 491 4.06
3100050060100008 M6x8 10 585 5.08
31000S0060100010 M6x10 10 585 5.08
31000S0060100012 M6x12 10 585 5.08
31000S0060100016 M6x16 10 585 5.08
31000S0060100020 M6x20 10 585 5.08
31000S0060100025 M6x25 10 585 5.08
31000S0060100030 M6x30 10 585 5.08
31000S0060100035 M6x35 10 585 5.08
31000S0060100040 M6x40 10 585 5.08
31000S0060100045 M6x45 10 585 5.08
31000S0060100050 M6x50 10 5.85 5.08
31000S0060100060 M6x60 10 585 5.08
31000S0080125010 M8x10 13 7.82 6.08
31000S0080125012 M8x12 13 7.82 6.08
31000S0080125016 M8x16 13 7.82 6.08
31000S0080125020 M8x20 13 7.82 6.08
31000S0080125025 M8x25 13 7.82 6.08
31000S0080125030 M8x30 13 7.82 6.08
31000S0080125035 M8x35 13 782 6.08
31000S0080125040 M8x40 13 7.82 6.08
31000S0080125045 M8x45 13 7.82 6.08
31000S0080125050 M8x50 13 7.82 6.08
31000S0080125055 M8x55 13  7.82 6.08
31000S0080125060 M8x60 13 7.82 6.08

FR#EFRA BN TE



	Sheet2

